EJEEERR

T260B
UW.RT.2T

AN\ N T ERN AR

T651-2404 wMEMAXRAEREIGHSM1534
TEL 078 (967) 1481
FAX 078 (967) 3090

ABBRFTUEERTEOMEBRERTT .
AL 2014 F£ 4 A 18 JUBERALVELEYS ., (ABGRREALAFICEROMAREREILLES )
BAIXIFRREEZSTH-0, KMRARICEHIATOEIRERVRAICTITEXTEL,

MaERORT
——  BERRV. BEEOERIIERTEIRELLEEA,
X Bl TR LEE A,
m BRRERAET. ZOBROKDY ISHAT SBENHYFT.

3 (KE)7vt2TYEGS
Ty TyrUITYER

SW INRES

] FER

AJ TovYRA

SP A IJL/NFR

PK NYFURIFHRY 7Y b

RILE  RARILE

F OBHRKCOVWTEFHIEBRERESELTTFEL, BLEKRICOVTEBHENEHLECEEL,

AEBESHRD-OFELG L RBRMMEEAEDLL ENHYET,




- 1-191FER<

T260B-UW.RT.2T




< 3J)LF —T260B-UW/RT/2T

EAE:S i &4 E%| (@ S mE e Bz (@
1 ]3353-11002 | |¥¥7—R7yY (AMZIRIEAMT) 1 6 | 3324-26510 | |FOFH4— 1
3324-26511 | |FOTHo5—(fEag 1
1-1 - #|FYr—2R 1
1-2 - X | ¥ Tk 1 7 | 3354-22300 | |IL—FNURILTYS (XKAH) 1
1-3 - ¥ RAYLE 1 7-1 | 3354-22310 | % |L—FN\UR)L 1
1-4 - ¥ E-AU¥v 1 7-2 | 3354-22320 | % | L—TNUR)LFoy T 1
1-5 | 0311-16001 | % 6001 NS X7 1 7-3 | 011140530 | % [M5x30 X' W 4
1-6 | 0311-00627 | % (627 X724 1 7-4 | 0161-00540 | 3 |M5 Sk 4
1-7 | 0311-00609 | % 609 XF >4 1
1-8 | 0311-30609 | % (609 Z X724 1 8-1 | 3347-22210 | |BYUvFCany—m) 1
1-9 | 0212-02812 | % |R-28 RFv T2 4 1 8-2 | 3347-22320 | |FUvTIUF 2
1-10| 0212-02412 | % |R-24 RF vy T4 1 8-3 | 3347-22310 | |EVUvFCany—m) 1
1-11| 0211-00910 | % |S-9 R4y Ty 1 8-4 | 3347-22320 | |FUvT Uk 2
1-12| 0121-00608 | % [M6 X 87 F il b 1 8-5 | 3355-27310 | |24 —hFa—T 7x200 1
1-13| 0121-10625 | O |M6X257X A ILh.SW 1 3394-31210 | |#EHR/\R(2%x80%R) 1
1-14| 3353-11210 |0 | AZ £ A 1
1-15| 3112-11221 | O |HWZ £ E (FWZT) 1 9-1 | 3388-22411| |ROyMLLA'—(T)INYST L=400 1
1-16 | 0171-00812 |  |M8 v (/) 1 9-2 | 3431-22521| |RBEYRLTAL (420X70) 1
1-17| 3143-11240 | |M8 SW & 1
1-18| 3156-11231 | O |[M8X22Z& K b SWZE W fFZ= 1 10 | 3353-21201 | |N\UHTYI(ER) 1
1-19 011110512 |  |M5X12 X%J2 SW 1
2 | 4814-21101 MUN47°24X1.5X1500(T260BFA) 1 11 | 3353-93310 | |#&{FBHLES/ N— CKENT) 1
2-1 - % BRI L Jwia 6 11-1] 0111-00410 | % |M4 X 10 &Y 3
s | 3353-25110 RSA4TLvTk 7O x 1547 1 12 | 3353-93202 | |&IT4FL—hASSY 1
RISAY 1 12-1| 3353-93212 | % |[ £ 7T+ FL—h 1
12-2| 3347-93232 | % | FL—FHEIL 1
4 | 3348-22101 UNUR V7" 39bASSY (KEN{T) 1 12-3| 0122-30615 | % |M6 x 15+F 5 fF R AR ILISW, W 2
4-1 | 3348-22111 | % |FS54 vk L 1
4-2 | 3348-22121 | % |FS4whk 1
4-3 | 3348-22130 | % |FS54 vk F 1 3353-93422 | |[SaE—NURTYY 1
4-4 | 1128-00522 | % |M5 x 22 RA AR/ 2 1271-91140 | | TEIK 9IALYF (13X19X27HLYR) 1
4-5 | 3353-00525 | |M5x25 ANATUTRILE 4 5111-91180 | |4mm AEHELF 1
3123-91162 | |/8—vi 1
5 | 3355-22203 | |UnUMLTy(3355-22120£3355-22110) 3123-93411 BENEEAIN (1) 1
3355-22120 | |UNUMLAEIVT(UW) 34T 1 3123-93451 | |T—F L (AHREALT) 1
3355-22110 | |UAYMALZEIVT(UW)XUM) Oft 1 3112-92331 | |ALNIw% 255 x 40PF5 A(OEM) 1
5-1 | 3355-22211 | |UnvUkIK(3355-2222243355-22213)~ 3347-91140 | |@OR/$F  8-10 1
3355-22222 | % |UnYFLAUT UW) 1 3353-99115 |  |Sa)L8—H AR KB E 1
3355-22213 | O |UNYKF LZE(UT UW) 1
5-2 | 3355-22320 | O |\ ES v 1 4814-94101| |T260B #AI—IL 1
5-3 | 3355-22331 | % | BY Uy 1 3911-94001 | [FESARL 1
5-4 | 3387-22411 ABYMLLA = (W) L=1070 1 3341-94150 | |[HfTRIES—IL 1
5-5 | 3429-22520 | |ROWkILT (72X 970) 1 3124-95001 | |ARYMLLAN—{R4EETD 1
5-6 | 3323-27320 IV =bF2=7 ¢ 7x800 1
5-7 | 3355-31210 | |3—K/\UK 1




T260B-UW.RT.2T

A TLH—
REETORBY
{2 T266B~)

BYZI4 b
BEmR
(3 T280B~)




3)LA—T260B-UW/RT/2T

S i &4 E%| (@ X% mE i Bz (@
=1 1271-11110 | [PUs 45— 1 41| 1271-32210 | |54 HRA—IL 1
1-2 [ 1271-11120 | |U2 & —PK 1 4-2 | 1271-23140 | |Fvk IS5ARA—)L 1
1-3 | 1271-60520 |  |M5x 20R%1) 2 (MLYAT-27) 2or4 4-3 | 1271-32140 | |3AJLASSY (757 %ry7°f) 1
1-4 [ 1271-11140 | |q4>¥al—4 1 4-4 | 1271-32340 | |a—RFOxyk 1
1-5 [ 1271-11130 | |4>>al—4%PK 2 4-5|1271-32320 | |U—K7A4% #*X 1
1-6 | 1271-60525 |  |M5x 2524 2 (MVYAT-27) 2 4-6 | 1271-32330 | |U—F7A¥ *X 1
1=7[1271-11150 | | F+TLAPK 1 4-7 | 1271-60420 | |M4 x20R %) 2 (MVIAT-27) 2
1-8 | 4814-12110| |=75 1

1-9 | 4814-12130 | |<¥I5PK 1 5-1 | 1271-60525 | M5 25241 1 (MWYRT-27) 1
1-10| 1271-60512 |  [M5 X 1224 2. (FVYAT-27) 1 5-2 | 4814-23410 | |5/ —ASSY 1
1-11| 4814-60550 | |M5X50R%)12HT-27 2 5-3 | 4814-50084 | |M5x1849t™vAHYa(bILYR) 1
1-12| 4814-12180 | |FL—h=T5— 1 5-4 | 4814-50085 | |J EEY 1
1-13| 4814-13110 | |25 —Hi— 1 5-5 | 4814-50011 | |RbyFULY 1
1-14| 4814-50088 | |&&E<—Y 1 5-6 | 1271-60520 | |M5x20R %) (MV9AT-27) 4
1-15| 1271-11170 | |[K™979/3y 1 5-7 | 4814-50009 | |M5x1249t™vAYa(bILYR) 2
1-16 | 127111160 |  |BFEA/A—aA)L 2 5-8 | 4814-23210 | |959FH—2R 1
1-17| 1271-34110 | | R/3—%TF 5% (BPMRTA) 1 5-9 | 4814-31120 | |959FRSLA 1
2-1 | 1271-14130 | |ERbro 34 1 6-1 | 4814-51010 | |#A¥a>% 1
2-2 | 1271-14110 | |[ERb2ULTGR) @ 345 1 6-2 | 4814-51100 | |#R¥4+£ry7°ASSY (AF597'4) 1
2-3 | 1271-14140 | |ERbE26ccH 1 6-3 | 4814-51300 | |/S4Fa>F 1
2-4 | 1271-14150 | |[ERPUEDRFYTILY 2 6-4 | 1224-51400 | |Z4LET v 1
2-5 | 1271-14160 | |ERRVEVRFYLY 1 6-5 | 4814-52210 | |h>— (KA V) 3
2-6 | 1271-21100 | |95>94—2R 1 6-6 | 4814-60514 | |M5X14R9Y2(FHRT-27) 3
2-11| 1271-06001 R71)2%'6001-C3 2 8-1 | 1271-53301 9 —F—arT k) 1
2-12| 1271-24160 | |A 4L —)L GEE) 1 8-2 | 1271-53321 | % | 7)—+—HRTF4T v (Fa—ft) 1
2-13| 1271-24170 |  |F 4L —)L (BRE) 1 8-3 | 1271-54130 | % |¥1)—F—TL AVb 1
2-14] 1271-02812 | |RFvFUrs RTW-28 1 8-4 | 1271-54111 | % |TF7H)—F—Hh/"— 1
2-15| 1271-22110 | |9529 % TFASSY26cc 1 8-5 | 1271-60560 | |M5x 602411 (MHRT-27) 2
2-16| 1271-22140 | |¥HB¥— 1

2-17| 1271-60525 |  |M5x 254" 2 (MLYRT-27) 3

3-1 | 1271-31100 | |95y FLaarF(G79FSPit) 1

3-2 | 1271-31150 | |[z—Jw 2

3-3 | 1271-31120 | |95vyFW 2

3-4|1271-31130 | |95vFRILE 2




T260B-UW.RT.2T

73 -— _ 8 BUIIL

71 M




< 3J)LF —T260B-UW/RT/2T

®E B e B @ ®E i MEA = i
7 | 1271-53000 FTLAASSY WYJ-426 1 9 | 1271-41000 1J24ILASSY (3 EN{T) 1
7-1 | 1271-53340 A—=H AN TF L 1 9-1 | 1271-41220 | % | RA—F/\VF)L 1
7-2 | 1271-53330 | | A—UHF AV IS LPK 1 9-2 | 1271-41210 | % | RA—4 00— 3mm X 900mm 1
7-3 | 1271-53270 | |RoTHA¥ TS5 L TGX23 1 9-3 | 1271-41110 | % | RA—BH5—R TV 1
7-4 | 1271-53260 R TPK 1 9-4 | 1271-41190 AYEV RGP (MLYR) 3
7-5 | 1271-53360 | |FS/3 9 R T 1 9-5 | 1271-41170 | % |U—IL T 1
9-6 | 1271-41120 | % | R/X15)LSP 1
9-7 | 1271-41180 | % | R2—52T—1) 1
9-8 | 1271-41150 | ¥ |#¥EET v v— 1
9-9 | 1271-41160 | % |M5X 14251 7°3 Ibyb 1
9-10| 1271-42100 | |RA—HT—UTv 1
9-11| 1271-43110 RAB—HBR—R 1
9-12| 1271-60416 M4 X 16X 1) 2 (MVYAT-27) 4
9-13| 4814-94100 | |)aAI)LF~)L(T260B) 1




